
 

HỌC TẬP - LỚP 4  - TOÁN LỚP 4 

Giải bài 2 trang 88 Sách giáo khoa Toán 4 

Bài 2 (trang 88 SGK Toán 4): Tìm x : 

a) x x 405 = 86265 

b) 8658 : x = 293 

Lời giải: 

a) x x 405 = 86265 

x = 86265 : 405 

x = 213 

b) 89658 : x = 293 

x = 89658 :293 

x = 306 

 

https://doctailieu.com/hoc-tap-c106
https://doctailieu.com/lop-4-c154
https://doctailieu.com/toan-lop-4-c155
https://doctailieu.com/toan-lop-4-c155
https://doctailieu.com/giai-bai-2-trang-88-sach-giao-khoa-toan-4
https://doctailieu.com/giai-bai-2-trang-88-sach-giao-khoa-toan-4

